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Workshop/Field
Work/Fabrication shop )

7 Helper (Un m_a_._.mn: 2 323 646 ¥ 526.00 % 155.59 %4,40,307.66
i) Total = PART-A + PART-B ¥51,61,816.33
ii) (Service charge/ Profit margin (including PPE's, contract manpower administrative charges & safety items etc.) To be filled by
" bidder ( Not less than 3.85%)
iiii) Total Amount with profit margin (man power) (M)  (i+ii)
iv) Total Amount with profit margin (man power) (M)  (i+ii) ( In Words)

No of Minimum !
oo | 35T | v | wegsper | G CIOD S | o st
a b C d i e=(d)x(i) f g=fx3.25% h =e x (f +g)
1 Turner 2 100 200 ¥ 37542 X 75,083.50
PART-| 2 Machinist 3 100 300 X371.25 %1,12,375.00
C 3 Fitter 1 100 100 X 321.67 32,166.50
4 TIG Welder 1 100 100 £327.50 % 32,750.00
5 Grindermen (skilled) 1 100 100 %184.75 %6.00 X19,075.44
v>n_.~ Ly 6 Riggers ( skilled) 1 100 100 %184.75 X6.00 19,075.44
7 Helper ( Un skilled) 2 100 200 X131.50 %4.27 ¥ 27,154.75
v) Total = PART-C + PART-D  (N)
vi) TOTAL contract value for One years including profit margin = (iii ) +(v)
vii) TOTAL contract value for One years including profit margin = (iii ) +(v) (In-Words)
viii) GST Applicable @............. Extra
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